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T(n) = O(1) n=1
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T'(n)=4T(n/2)+0(n)
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FUMBTE S 2« E A0m2), Bl Tn)=cn2, RABITFFE:

Jeili=cn’
Hi=4c (n/2)*+ O(n)=cn’
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I'(n)=2T(n/2)+n
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(1) 78 n2 # n, ¥IA1T, JFNnlogn
/158 = ¢ nlogn
Hi18=2cn2logn/2 =cn(logn-1)= cnlogn
EHEF, FleeEft, FAR9AIER.

(2) RFBJLNEFENITELERFKIE
T2)=2T(1)+2=2 =2log?2
T(4)=2TQ)+4=8 =4log4
T(8) =2 T(4) + 8 = 24 = 8 log8

T(n) =nlogn
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T'(n)=2T(n/2)+n
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T(n) =2T(n/2)+n < cnlog(n/2)+n < cnlogn — cn +n
= cnlogn + (1-¢c) n

= c>10f, 18 T(n) <c(nlogn).
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(l) . :{Hi: f(ﬂ) - O(nlﬂgh q_ﬂ) &> O %ﬁ%ﬁ . mIJ T(H) — Q(HIOghﬁ) .

) & f(m)=00"*") , M T(n)=&n"*"logn)

Q) f()=Qm™""), S0 REH, HIFE
B e<VFTA 72 KEnf af(%)ﬁcf(n), )

I'(n)=0(f(n))



«
MasterZ5 3%
(), FEnese g, M 7(n) = g(nloghﬂ)

(). 7 fn) X, W T(n) = 6(f(n))
3). A7 fn) Hn™ [\, W 7n) =6‘(nl”g”“lgﬂ):@(f(ﬂ)lg”) :
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WU 1. KW T(n) = 9T(%) +n. ‘ M/wf
a=9, b=3, f(n)=n, n°*"=6(n"
cf(m)=n=0n""""), e=1
~T(n)=0(n"*")=0(n")

Bl 2. Kk r(n) = T(2”3)+1 .

a=1, b=3/2, f(n)=1, n*®* =pn"%2'=p" =1

w f(n)=1=0(n"*")
- T(n)=6(n"*"logn)=0(logn)




W3, KIET(n)=3T(n/4)+nlogn

a=3, b=4, f(n)=nlogn, n"°**=n"*=0n"")
(1) f(n)=nlogn=n**,  £=02

Q) X n, af (n/b)= 3x%10g%£ 3><ﬁlogn =cf (n), ¢ :%

4
T, T(n) = 0(f (n)) = O(nlog n)

#il4. KAET(n)=2T(n/2)+nlogn
a=2, b=2, f(n)=nlogn, n°®"=n
fn)=Qm™ ")  EANLEES0, AT f(n) = Q(n** ™)
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